
Year 4—Money— Addition and Subtraction Problems 

Complete the decimal additions and subtractions 

5.65 + 2.80 =  3.90 + 7.15 =  

8.50—2.27 =  10.00—6.40 =  

Solve the problems  

I bought myself a cup of tea costing £2.25 and a cake costing £3.80.  How money 

did I spend?  



I had £10.0 pocket money. I spent £5.48 on a book. How much money did I have 

left over?  

I bought some sweets costing 75p and a magazine costing £3.55. How much mon-

ey did I spend?  

I had £20.00. I bought a hat costing £6.95 and a notebook costing £4.20. How 

much change did I have.  

Molly had £30. She bought a small pizza costing £8.95 and a large pizza costing 

£13.40. How much change did she get?  


